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. The person makmg the affer Iscalled

Q.P. Code :19498

* [Time: 2:30 Hours] [ Marks:75]

-

Please check whether you have got the right questmn paper
N.B: 1. Answer all questions. QPR 0794
2. Internal options for all Questions are gi\‘ren.:;,‘j.-{:z;

3. Figures to the right indicates the riark assigned: .

Fill in the blanks (Any 8) :'j'v TR S 08
Offer + Acceptance = . STV IS LB N Fat e P L
A person who buys or agrees to buy i is: known as
A Negotiable Instrument has to be xn" M VB S A &
Incase of unfair means, the consuméthas the rlght of 35 IS #S

In case of a private company mmlmUm number of mt‘-:mbers requwed |5 ;
Although company is an artiﬂc:al person It is not regarded as D _' "
Something in return is called < AN
A patent is granted for vears
An agreement enforéeable by Iaw is, a_

State whetherl"True. or Fa!se (any ?) RSO X S 07
A person Wlth 1nSQUndwm|nd can never enter mto a contract

The Sale of Goods Act : of,1923 ) FESS

Voluntary transfer bf possessmn frOm cme persen to another is called Delivery.

A persOn ar:ceptmg the offer is called as. bfferee

A promnSsory ndte |§ an uncéndrtlonal promlse to pay.
: Under the Consumer Protectlon Act the complamt must be in writing.

A Negotlable lnStrument |s aIWays transferable

~ There are 8 cIauses |n Membrandum of association.

There is no prospectus in case of a private company.

: ~Inte|lectua| Propérty nght grants ownership rights.

Answer the followmg

“ Explain the' essential elements of a Contract. 08
Dlstmgmsh between Sale and Hire Purchase. 07
: pR_cv
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Q.3

Q.4

Q.5

Short Note (Anv 3)

Q.P. Code :19498

Explain the essential characteristics of a Contract of sale, - :
Define offer. Explain the legal rules regarding offer. . oY

Answer the following:

Explain the characteristics of a Negotiable Instrument ,

Who is a Consumer? What are the Objects of Consumer Protection Act?
OR ‘

Explain the different types of cheque. -

Explain the different modes of Dlscharge of a contract

Answer the following: B
Explain the advantages of a' chpany - & :
What is Memorandum of A550clat|on? Explam the dlfferent clauses of IVIOA.
Explain the different kmds of Meetlngs R Fol

Who is a member? Explam the rughts and Ilabmtles of a member .

Answer the followmg : St

Explain Intellectual Property nght (IRR) In brlef

Explam Geographst:al lndlcation in detati >
OR TP EE

a) Doctrme of CaVEat Emptor
NS Defects&Defnclency RS
c): Copyright T

~ d) Artlcles of AsSouatl()n

-e) Promlssory Note '

D ek ek ks s ok ok ok ok ok ke o ok ok ok ok
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[Time: 2521- Hours|

NOTE : i) All questions are compulsory
ii) In Q. 1 attempt both the sub-parts A and B "
iii) Figures to the right indicate marks &% S
iv) Use of non-programmable calculator is alluwgﬁ ORI S
v) Graph paper will be provided on request R ;\-;.?'_ AT

If the value of coefficient of vanatmﬁ i&mo“rﬂ, then thﬂ cnnsmtcnc ; Gf -l
............ (more, less, same) DGO,
e) The correlation is positive if .. i =
(x increases as y increases, X ufgxeaﬁes a8 decxéases, noné“ qf Jhese)
f) A Sy isa sequencaufwlués!ﬁf 4 phenomenor an'anged in brder of their
occurrence. (time series, mdﬁ%mii'pbet" none of: these) :
g) The index number for Hasé p*énnd ls > o0 taken as 100
(Always, Sometlmqs e‘irqr) ‘:?'l,; Ko LR
h) A variable X capable of takhg daserete ‘values xu ,«:.xn wn‘tﬁ ;espectlve
probabilities p1,p3; = .,pniis. calied as rattdum vaiz:f L s

&
NS

(discrete, con’cmutms,ﬁ noRey 5 S L
i) For a statistical expenmém pvery pgssible outcﬁme rs cailed
(sample, samplé pomt spacc) A X
i) Maximin'criterion is a decision makmﬁcug}dek
(rlsk uﬂ;:erfamty, ee.rtalnty) N
Q)B  State Whethc;zthé fella}vmg sfatément&hreTme ol' False (Attempt any seven) )
a)  Abivariate: frequené:y gim:gbutwn reprcSents frequenmcs with reference to two
~vatiables at a time, -
b)~ - Pig dlagmm is rcpresented by usmg cfrcles
¢) - Quartiles, arg:ineasures of central tendmcy
d) © Standaxd dewatwn s denotedby 5
3 Ivaents A EmﬁB are exhaustlve e\rc.nts’then AUB is a null set.
AT SAD syrmhetrlé dismbutroa has the values of all measures of central tendency
- dentigal Q4 E

"9-:. 3

P g) ~Each.of thp groups or selections which can be made by taking some or all of a

“number of ‘things w1t~hou1 teference to the order of the things in each group is
=5 cilled a pcﬁ‘nutatmn QA
Thy There are four compbﬁentsr’bf time series.
) N | { correlatmn cOefﬁ(:lent 18 zero then the association between the two vanables is
5 perfebt positive, -
b3 O | 4 theupper lgszﬂwafe excluded then it is called inclusive type of class intervals.

WA
v \
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Q2) A i) Calculate Median and Mode for the following data
Class 10-30 | 30-50 | 50-70 | 70-90
Frequency 4 10 14 12

ii) Draw a Multiple Bar Diagram for the regional percentage@f\fl\ T a
popular T.V. serial on D.D. Metro for 3 months. << 05 5
Month | North | South | West | East.} =

April [ 40 45 ;
May 50 53

June 45 49

Rl A
Q2)B i) Represent the following data by a Hl og‘apl&id a

the same graph)
Units 0-200 | 200-400
No of 9 18
Consumers

N ‘\
ii) Find the missing frequency if tk_te@eams 21\9

Class 0-5 | 5-10 | ¥0-15 [ 15-20" 2035 ]
Frequency | 2 5 .é‘,‘%}"»d& L‘ZL
> SO F TG 2o
Q3) A i) Calculate Karl Pearsqnﬂs Gﬁ-é ‘1[1;}:&;{ epttg[aﬁbn
S, VO ‘-4]‘ w4
-+ 3‘5

ennger the folIowmg data: (8

&ge‘_g Y 8. gséq 30-32 | 32-34
No ofErgﬁgamg 40 | 13 80 80

Q3)B i) Fmtf the;;regressibn\m n of x/tm xfor‘the folﬁ)wmg data and hence estimate (8)

CEETREY
| “16 | 22 | 20 '
T T RS e a
o uj) éalqu’lzg& rmneomtmm@cﬁwﬂﬁ‘om the following data representing
maéﬁs mMaﬁis{X)amiAtc untancy (Y).
| I Fasle [8 [5 [13
_‘ v 1Q 10 k5 17 ]6 14 ]9
' 1)”“ Fltatrend ime byktbe meﬂmd of least squares and estimate the trend for the ac

f?\zm 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
12 Fabipia | 15 ¥ | 17 | 17
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Foies.

Total Marks: 75
N.B. : 1 All questions are compulsory; carry 15 marks each
2. Draw Diagrams wherever necessary.

Q.1. A State whether the following statements are True or False (Ansl Eight)-‘

»
o
™

a. Every person is different yet much the same. . "

-..“.*
AN o

b. Skills is the ability to act in a way that allows a person to pérfarm wel!

¢ Narcissism is the tendency to have sense of self-importaﬂt\q,
\.,' \' %, \“

d. The unknown area of Johari window is also knovm as ignm’atit
&. Attitude can have a significant effect on the Q‘eh&gf&kﬁf,a persﬁ

f. Red hat contributes from the chair.

. Task group is defined by an Ol‘ghmz‘ation Stfucture 5 G

\-.\ 5

o

J- Intra-individual conﬂlct oct:urs betwa-en iwo mdeuals

(7)

. \A O TE Dy

i) Myers-Bnggs lnd:catrar W Sy =S a) Dreammg *g
i) Involuntary Thlnkivgf S SBY NONEY >

i) __Role Perception ~ - o - cj Positive StreSs

iv) Empowerment .- s it ¥ *d) Judgement Or Perception

V) o Globaligation .~~~ . o .ne T e) Environment Before Birth

vi) <~ Eustress .o . RS P 1 gggee Of Different Ideas
__Vii) _ Prenatal Envlronment : g) _A Force Leading To Change
| Vi) Creativity B e T i i h) Act In A Given Situation

iX). " Scarce Resources AP i X Organization Politics

X) . Lack Of Trust -~ - ARSI RR R i) _Passing Responsibility

Page 1 of 2
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Q.2. a. Explain big five model of personality

giving effective feedback

Q.2. c. Write a note on postnatal environment.

(8)

(7}

d. Explain in brief 6 thinking hats.

(8}

{7}
{8)
(7)
(8)

{15)

(7)

(8)

{15)

i 7 ]
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[Time: 2- Hours]

N.B: 1. All Questions are compulsory.
2. Figures to right indicate full marks. Eras
3. Draw diagrams wherever necessary

Q1 a) State whether the following statements are True or False (Any\Eight}

1) Mlcroeconomlcs deals wrth the analysis of natnonal mb i
2)

3) =
4) ;
5) of.
©  6) External economies may occur due to dNlenhrb’ﬂaboun ‘. P O,
‘ 7) Dema nd curve of a monopollst is slopt[tg bgaard f?orh,left to nght;
8) :
] 9)
i : i97)
| g;‘agipn. "o g - “"‘“GrOUpB ]
1) Equations R QY A0 LY 'y a) Shut ;iqwn pt‘)lnt |
. 2) Negative income: éifect ﬁ)SuBsﬁtutes 3
’ 3) Demand foret:ast!ng ".gl‘\.’ AR 5 Exté{nal economies
4) Positive crossglasﬁclty ef demam:l 3 ).&Lathematacally express functions
5) Iso-cost line T T RS 5 S : .’,_eLI_fPi-}:f:"géul Sweezy
6) Localﬁatlon emnd\mies & .. | f) nferior goods |
7) TVC -*-TR A e SRS leny -é%etermined by govt :
\ 8) kinked denﬁand curvé Al AN sy Ch) Survey method |
9) Admnmsterxed*’ncm& orF 00 LY Cost incurred on additional unit
10) Margmaf cost prlf,\ing “ .70 j) Budget line ‘
: s ooV n‘: | k) Hall and Hitch ;
} & ::‘ : I) Complementary }
b - - "o 4"?} : : -
;‘ ‘ =% LD Af‘ g
(08)
‘ b) DESCFIbE In detail tha,ﬂ;fferent methods of demand forecasting. {07)
" AT " : OR

AD55F62224318ABD441CFBD7672753BB



Q.P. Code 00724

¢) The demand function for commodity wheat is given by Q4,,= 100- SFW The price of wiheat isgiven
in below table. -

Price of wheat (Rs.) Quantity dema néed (kg)

0o &N

Answer the following quesﬁonr : o

1) Calculate quantity of demand for wheat at gngen prlce : (03)
2) With the help of above demand Schedule drawthé\&emandwrve' e {02)
3) Calculate price elasticity of demand whe;wrice chénges from Rs 4 to Rs 8 - (03)

(07)
(08)
e ._,_-r_,}j_t Too 1, P - T ;{-‘f:‘,ﬂ“ 7 s |
TVC — ok SRS TR .; o j230 |
d) What is Break even p0| :gt%in ;fﬁe:byspnéssappllcataon of Break even analysis. onh
TS ery  AYD . :
Q.4 a) Explain Iong ruﬁ equﬁ&lum ofa ﬂﬂ?n.undgrthe mnnbpbhshc competrttve market. (08)
: i
(og) 7
d) What is prlce\lehﬁeﬁhllb?EXplam the ‘types (;lf prlce leadership. (O‘I?H
Q.5 a) _Def‘ ine prlée dfscni'nination;'WHat a!"e the varlous forms of price discrimination? {08)
b) What is multlpr‘oautt prlcnhg? How JS ;t done? (on
Q5 'Wnte short Notes 7 (Aﬁy fhfee) i 19

1) Production Possibility Curve .
2)° Factors affecting. deman¢

+3)) Promotionalelast\cutv ofdemand
4). Types of Producl;lon fu‘nctlon
5) Cartel formatuon £l

ADS55F62224318ABD441CFBD7672753BB
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[Time: 2:30Hours]

Please check whether you have got th

N.B: 1. All questions are compulsory. &° &
2. Figures to the right indicate full ma@%-- Q“

i) ~—-eemememe s the holy booka(:ghec ﬂps
a) Bible b)Quran Qf:

‘n
g

b \'< N .:k
ii) Indian society is ""@""‘}:ﬁ. N
a) a)Tribal b) UaBaﬁ‘qJ

'\}

H v‘\ '3\
i)

v “;‘

‘a&"b S

e
ol 4

iv)

Sﬁ;ﬁfﬁaﬁl aétt‘atléqs tQOk p\ace“in;"' ;\" o : &
n hjiohfﬁqm -qw stern.

5 Y '-'a‘ﬁ&s;aut {If‘ rellgious i}mda(ﬂentalism.
Iutom,thm‘iaﬁqm bicastmsm c]Se;suiansm

u--‘ﬁ**rr f;‘;he ﬁéaﬂ of the Gram panchayat.
\;) P?és?dém c}Mavor c)Sarpanch

870961BE3051F1446071C8BA1E2F1219




QP Codé 22472

¥

B) State whether the following statements are true or false (Anv stwenl

i) The founder of Sikhism is Guru Govind Singh. N .

ii) Eve teasing is a social violence against womeri LS SN .
iii) In India, the states are formed mostly on. the“baSis of Ianguage N
iv) Glaucoma can be detected during pregnanw N A

v) Communalism is opposed to secularism. NS

vi) Regionalism can cause inter — staté tansion“énd confmh’cﬁtion

vii) The Fundamental Duties in lndlan Canstltutlon are Jusﬁclable ln nature
viii) The Indian constitution is thashoitést written tonstifuﬁon of the world

Q.2

Q.3

Q.4

Q.5

x)

Explain the regional variation in Indla accordmg to rurai and urban 'ha

What is Regnonalusm? Wha‘t are fhe causes for gmwth of Rbgionalism?

Y

Define ‘Communalism’. Dlsgussmé. features f)f cu(nmu nal c,onfhct in lndla

SOR S

-

ix) The existence of political pames is not anéssenﬁal fequirement bf a democratic country.
The Constitution of India cnn'r'ars smgle El‘tizenship ARt ) :

ractenstics. e

N

\.

Discuss the Fundamental Duttes of Indian Cutgzen enShrmed in the Inﬁlan Constitution.

What are the ehalienges 10 women s pohtmal paﬁlcmatlQn m Indua? Suggest measures to overcome the

challenges

Write- short note on (Anyth?ee)

o
sy e
~-m)
. i.V.)
“

-.‘\

.\ ~
g

. India as a multlculturak sbmety 2o
1nequahtlés against peop[e w:th phys1ca| disabilities

W Caste cohﬂacts in lrrdta

T'he Preamblg ta the Indxan éonstututlon
The Regmnai pohtlcal parﬂes in India.

Page2-etS
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Q.I. (A) Match the Columns (Anv Fight)

=

. . . . . - - -

(Vo SR o < e R - TR - e e

-..| -d‘\ :,'un .r.~. -'L—.u_ L

'C’ Of Communication

Proxemics
Kinesics :
Physical Barrier‘

General Agreer-ﬂent
Homonyms
Salutation

Persuasion

Posters

/
f.l

l

P.T.0.
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%.
,mpisrtémfe« Uf Feedback in commumcaﬁb

(D) List and eXplain the advantages and dlsadvaﬁtbgésug'fj Joti 5

inan organlzation

Grapevine Communicatlon

(B) Explain the term Buslness Eth

-
Advertising. :
(10)
Y
I
(B) Ms. Mehvish Shéh has;’been offered he pos nior A (05)
Synergy ProdUstloﬁs"ﬁ‘vt Lt Bahdra Wés_‘,.Ml'J\; qb“é_L;Draft!a fetter of Job
(10} .
: -
(05)
\ ashfk sfn{‘e the !ast seven years and would now like,
/ n he poS:t.tdqpc:k a better career opportunity. Draft a Letter of s
Re5|gnatro N oh 'er behalf l lae the Semi Block layout. s s
£ ; ‘ X
(15)
rCorporate Social Respnﬂsmlhty .
25 Socm*(‘.ultura' Barrrers to Communication
3. You' Attitude <
A, “fThe Advahtéges and Disadvantages of the Internet
S50, {-Perséna htegrlty as a lusiness Ethic !
Page 2 of 2 ‘ : ¢ T
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